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ASSOCIATESHIP EXAMINATION
" MARINE INSURANCE CLAIMS .
wug:3€e} ' . [@et 3 : 100
Time: 3 Hours] ' [Total Marks : 100
WWW%WW|WW%16W§MWM=@%|
o el v v 12 SR E

Answer EIGHT questions only. Question ONE carries 16 marks but this is not

compulsory All other questions carry 12 marks each.
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Explain the purposes and functions of followmg charges and expenses - 4 each
a) Sue and Labour Charges
b) Forwarding expenses
¢) ExtraCharges
d) Salvage Charges
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Comment on the “onus of proot” of loss under a policy of marine 4 each
insurance. :

What is the effect of breach of wan'anty on underwriters’ liability?

Section 55(2) of Marine Insurance Act, 1963 enumerates losses whlch

are not payable. What are these losses" :
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Giving reasons, state whether the following statements are true or false: 3each
a) In-serving notice on the Railways for gbodsmissin'g during transit,

- theclaim bill should be based on invoice value of the consignment. -
Institute Strikes Clauses (Cargo) cover also any loss/damage to goods
resulting from loss of or frustration of voyage due to strikes and riots
inthe port area. '

Sue and Labour Charges incurred to prevent or minimise a loss to
cargo by insured perils are not payable if such measures prove to be
unsuccessful. : g ) -
Underwriters shall not be liable for unrepaired damage in the event
of subsequent total loss of the vessel during the policy period. .
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a) Describe the Cargo claims procedure when goods are landed at an 6 each
intermediate port. . S o

b) What is the procedure involved in respect of marine claims payable
abroad? ‘
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5. What is “Salvage Loss”? In what circumstances is it customary to settle -~ 12
claims on a “Salvage Loss” basis?
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Commodities“A” and “B” are insured subject to Institute Cargo Clauses
(A) From the following data draw up a statement of claim for submission
 tounderwriters :- : '
20 bales commodity “A” invoice value CIF Rs.30,000
10 bales commodity “B” invoice value CIF Rs. 10,000
Insured for Rs.48,000 total sum insured subject to ICC (A)
Particulars of sea water damage are as under :-
1 bale “A” valueless and destroyed. : ‘
2 bales “A” made merchantable and delivered sound. Reconditioning
expense Rs.200. : ' : .
5 bales “A” sold in damaged condition. Sound value Rs.1,600 per bale.
Realised Rs.1,200 per bale. -
Sale charges Rs.200.
Survey fees Rs.300.
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7. When General Average is declared, what is meant by. "contributory 12
- values"? Explain the basis on which the contributory values of ship, cargo
and freight are computed.
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1,80,000
20,000
80,000
- . 40,000
- " 3,00,000
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Vessel ‘A’ msurcd for Rs. 8,00,000 so valued, under Institute Time Clauses
- Hulls 1.10.1983, sinks and is a total loss after colliding with Vessel ‘B’
As a result of the collision, Vessel ‘B’ damages port mstallatlons. ,
Following losses occur : . ’
‘ Vessel ‘A’ : el _‘B’ '
Damage to the vessels - 8,00,000 1,80,000
Demurrage - 20,000
Crew injury 50,000 80,000
Cargo damage - E 40,000 -
Damage to port installation - - 3,00,000

- Vessel ‘A’ is held 70% to blame and vessel ‘B’ 30% to blame for the
collision. Neither vessel limits Ilabxhty State the claim under vessel A’

poliey.
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4,000 bags basmati rice, comprising a total of 2,80,000 Kgs. grosé (with

tare of 1 Kg. per bag), railed from Mumbai to Delhi, were insured for

Rs.20,00,000 subject to Intand Transit (Rail or Road) - Clause ‘A’

- 93 bags, which arrived torn and short of contents (because of use of
‘hooks) weighed 6,045 Kgs. ~

- 10 sound bags weighed 700 Kgs. gross.

- 200bags arrived outwardly stained with contents caked and mildewed
on which a depreciation of 40% was allowed. o

Survey fees amounted to Rs.500. '

Work out the claim payable to the consignez.
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. Write short notes on the following :

a) Customs Clearance Procedure

b) Classification Societies

¢)  Clearance Procedure - Road transit.




